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THI ONLINE: PE MINH HOA KY THI TN THPT 2025
MON TIENG ANH - LOP 12

Read the foltowing advertisement and mark the letter A, B, C or D on your answer sheet to indicate
the option that best fits each of the numbered blanks from 1 to 6.
MAKING FRIENDS IN THE SKY
"Who will 1 sit next to? Will they be interesting or will they be really (1)
?" Are these the questions that you often ask yourself before a (2) ? But
that's all going to change! An airline company has introduced a new system (3)
'‘Meet & Seat'. Now you can choose your 'next-door neighbour'. When you

book your tickets, you can show your social media profile (4) everyone on

the plane. You will also see everyone else's profile. Then you can choose who you
want to sit next to. If you want to talk about work and (5) business contacts,
look at people's professional network profiles. And if you prefer (6) _ fun and chat about travelling and
shopping, look at their social network profiles!
(Adapted from C21 Smart)
Question 1.
A. boring
B. bored
C. boringly
D. boredom
Question 2.
A. long journey plane
B. long plane journey
C. plane long journey
D. journey long plane
Question 3.
A. which called
B. calling
C. was called
D. called
Question 4.
A. for
B.in
C. by
D.to
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Question 5.
A.do

B. make

C. book

D. put
Question 6.
A. to having

B. having

C. have

D. to have

Read the following leaflet and mark the letter A, B, C or D on your answer sheet to indicate the option
that best fits each of the numbered blanks from 7 to 12.

To Save the Planet, Begin at Home!

Let's look at what we can do at home each day to save the planet.

Facts and figures:

Farming with synthetic chemicals has killed insects and (7) __ animals. Meanwhile, we (8) _ 80
million cans each day and 45,000 tonnes of plastic packaging each year. These kill up to one million seabirds
a year.

Positive action!

- Buy and consume fresh, organic food and drinks, especially things produced locally. This reduces the need

for long-distance food (9) .

- Don't always buy food that comes in cans or plastic packaging. (10) buying a pre-packaged sandwich,
make your own! That helps reduce the (11) of rubbish you produce.
- Reuse packaging where possible. Separate paper, plastic, and metal (12) and recycle them.

(Adapted from Move on)
Question 7.
A. others
B. other
C. the others
D. another
Question 8.
A. throw away
B. give in
C. pass out
D. put off

Question 9.
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A. storage
B. transport
C. preservation
D. preparation
Question 10.
A. Instead of
B. On account of
C. Irrespective of
D. In view of
Question 11.
A. number
B. level
C. amount
D. quality
Question 12.
A. items
B. factors
C. resources
D. substances
Mark the letter A, B, C or D on your answer sheet to indicate the best arrangement of utterances or
sentences to make a meaningful exchange or text in each of the following questions from 13 to 17.
Question 13.
a. Nam: Hi, Mark! Long time no see. You look so good!
b. Nam: Yes, | have. | exercise every morning and eat more healthy food.
c. Mark: Hi, Nam! Thanks. You look so fit, too. Have you worked out a lot lately?
A.c—-a-b
B.b-c-a
C.c—b-a
D.a-c-b
(Adapted from Global Success)

Question 14. a. Alex: Why online classes?
b. Sue: I'm going to try online classes.
c. Alex: How are you going to improve your English?
d. Alex: I think online classes are too expensive. I don't think I'll try them.
e. Sue: They improve our communication skills, and they have flexible schedules.

(Adapted from i-Learn Smart World)
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A.d-b-a-c-e
B.b-e-a-d-c
C.d-b-a-e-c
D.d-e-a-b-c
Question 15. Hi Gemma,

a. But it was interesting to watch these videos.
b. Thanks so much for the guitar lesson videos you sent me last week.
c. You know, we ought to practise together for some time. What do you think?
d. Thanks also for the tip about the free websites with musical lesson videos - they are much better than the
sites I've been following.
e. It's really nice to learn how to play a new instrument like the guitar, but | am too busy at the moment, so
I'm focusing on my violin lessons for now.
Write back soon.
Billy

(Adapted from THINK)
A.d-b-a-c-e
B.b-e-a-d-c
C.a—d-b-c-e
D.c-a—-d-b-e
Question 16. a. While deadlines and flexibility are essential aspects of this job, the occasional office
meeting for project updates, for instance, is a small trade-off.
b. Working remotely from home fuels my creativity and allows for a more productive environment.
c. Indeed, for the past year, | have thrived in this role at a local company, where | craft engaging online
content and develop effective strategies.
d. My passion for both people and technology naturally led me to a fulfilling career in social media
management.
e. In conclusion, 1 am incredibly happy with my current position and the opportunities it provides, as it
perfectly combines my interests and skills.

(Adapted from Bright)

A.d-c—-b-a-e
B.a—b-c-d-e
C.b-c-d-a-e
D.c-a-d-b-e
Question 17: a. However, despite this growth, Redmond still lacks a hospital, as the nearest one is located

over 30 miles away in Longreach.
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b. Once abundant parks on Oak Street and Richmond Avenue have been replaced by factories, marking a
shift towards industrialisation.
c. The industrial shift has also attracted new businesses, from arcades to shops and factories, boosting the
local economy and making Redmond more and more commercially active.
d. Redmond has transformed significantly over the past decade.
e. This industrial growth has led to a 25 % population boom due to an influx of factory workers, resulting in
increased traffic congestion.

(Adapted from i-Learn Smart World)
A.d-b-c-e-a
B.d-c-a-b-e
C.d-a-e-b-c
D.d-e-b-c-a
Read the following passage about humanoid robots and mark the letter A, B, C or D on your answer
sheet to indicate the option that best fits each of the numbered blanks from 18 to 22.
Humanoid robots, eminent characters in science fiction novels and sci-fi films, are becoming a reality. Sophia,
as an example, (18) . One month later, she had her premiere in Texas, USA, and has made multiple
public appearances around the world since then. At one such event, Sophia was granted Saudi Arabian
citizenship in October 2017 and even became the first Innovation Champion of the United Nations
Development Programme later that year. During Sophia's trip to Vietnam in 2018, she addressed the Industry
4.0 Summit and Expo.
Sophia the Robot is the latest humanlike robot created by a Hong Kong-based company (19)
Undoubtedly, Sophia together with other humanlike robots represents the rapid advancement in the field of
robotics and artificial intelligence. (20)
Sophia’s physical appearance is inspired by both the famous actress Audrey Hepburn and the creator's wife.
(21) . Butwhat makes her more lifelike than other robots is the patented artificial skin called Frubber®,
which has the feel and flexibility of human skin.
Sophia amazes the world with her ability to communicate naturally. The Sophia Intelligence Collective, which
is a combination of Al and human input, and other sophisticated perception techniques enable Sophia to
recognise human faces and identify human emotions and gestures. Equipped with machine learning
algorithms, (22)

(Adapted from Friends Global)

Question 18.
A. of which the activation was launched on Valentine's Day, 2016
B. was first activated on Valentine's Day in 2016
C. that had her first VValentine's activation launched in 2016

D. having been initially activated on Valentine's Day, 2016
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Question 19.
A. whose combined efforts in Al research, engineering, and design have given birth to robots

B. succeeded in bringing robots to life by combining research in Al, engineering, and design

C. brought robots to life thanks to its accomplishments in Al research, engineering, and design

D. of which the joint efforts in Al research, engineering, and design in building robots

Question 20.

A. She has been designed to assist humans in healthcare, customer support, and education

B. People in the fields of healthcare, customer service, and education helped create Sophia

C. Intending to aid humans in healthcare, customer support, and education, Sophia was developed

D. The assistance in customer support, education, and healthcare led to the creation of Sophia

Question 21.

A. Without cameras and microphones working as her eyes and ears, she could hear and see like humans

B. Her eyes and ears work as cameras and microphones so that people can see and hear her

C. She has cameras for eyes and microphones for ears, allowing her to see and hear like a human

D. Using cameras and microphones for eyes and ears, they allow her to see and hear as humans do

Question 22.

A. Sophia can understand human speech and interact with people

B. human speech and interaction are becoming so easy to Sophia

C. the machine can help Sophia speak and interact with humans

D. interaction in speech between Sophia and humans takes place

Read the following passage about endangered languages and mark the letter A, B, C or D on your
answer sheet to indicate the best answer to each of the following questions from 23 to 30.

There are around 7,000 languages in the world today. However, most people speak the largest languages:
Chinese, Spanish, English, Hindi, Russian, Arabic, and others. So what about the smaller languages?
According to the UNESCO Atlas of the World's Languages in Danger, around one-third of the world's
languages now have fewer than 1,000 speakers. We may soon lose those languages completely. In fact, 230
languages became extinct between 1950 and 2010.

Unfortunately, when we lose a language, we also lose its culture and knowledge. That's because people in
different places have different ways of living and thinking. One example of this is the Tuvan language of
southern Siberia. Tuvan people depend on animals for food and other basic needs. Their language shows this
close connection between people and animals. The Tuvan word ezenggileer, for example, means "to sing with
the rhythms of riding a horse.” And the word ak byzaa is "a white calf less than one year old."”

In some places, people are working to save traditional languages. Many schools in New Zealand now teach
the Maori language. This helps connect native New Zealanders to their Maori culture. And Welsh is spoken
by around 500,000 people in Wales. The Welsh government is working to increase that number to one million
by 2050.
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Technology offers a possible alternative to saving endangered languages. National Geographic's Enduring

Voices project has created "Talking Dictionaries™ - the recorded voices of people communicating with each
other. All of them are fluent speakers of endangered languages. And because these dictionaries are accessible
to anyone on the Internet, people now and in the future can learn some of the vocabulary, greetings, and
grammar rules of past languages.
(Adapted from Explore New Worlds)
Question 23. Which of the following is NOT mentioned as one of the largest languages?
A. Arabic
B. Hindi
C. Spanish
D. Maori
Question 24. The word extinct in paragraph 1 is OPPOSITE in meaningto
A. existent
B. native
C. official
D. ancient
Question 25. The word Their in paragraph 2 refers to
A. basic needs
B. Tuvan people
C. different ways
D. different places
Question 26. The word accessible in paragraph 4 could be best replaced by .
A. available
B. dependable
C. visible
D. audible
Question 27. Which of the following best paraphrases the underlined sentence in paragraph 4?
A. Endangered languages could only be saved by technology.
B. There is no other way to save endangered languages but technology.
C. Technology could be another way to save endangered languages.
D. Technology should be regarded as the last resort to save endangered languages.
Question 28. Which of the following is TRUE according to the passage?
A. The number of Welsh speakers will increase by one million by 2050.
B. Only by creating "Talking Dictionaries" can endangered languages be saved.
C. Less than 200 languages were no longer in existence between 1950 and 2010.
D. The Welsh government is trying to double the number of Welsh speakers by 2050.
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Question 29. In which paragraph does the writer mention a present causal relationship?
A. Paragraph 1

B. Paragraph 2

C. Paragraph 3

D. Paragraph 4

Question 30. In which paragraph does the writer explore modern methods for maintaining endangered
languages?

A. Paragraph 1

B. Paragraph 2

C. Paragraph 3

D. Paragraph 4

Read the following passage about the urban shift and mark the letter A, B, C or D on your answer
sheet to indicate the best answer to each of the following questions from 31 to 40.

[1] Global urbanisation has increased significantly in recent decades, and one of the main drivers of this growth
has been rural migration. [11] Half of the world's population already resides in cities, and by 2050, experts
predict that number to reach as high as two-thirds. [I11] Many factors contribute to this global phenomenon,
which then gives rise to various issues. [1V]

There are many push factors which force people away from rural life. For example, rural residents have fewer
employment options because there are not many large companies nearby. What's more, rural jobs are mainly
related to agriculture, so crop failures due to natural disasters can make it difficult to earn a good living. By
contrast, there are pull factors that attract people to urban life. Urban areas have more industries, so people
can easily get good jobs and achieve a higher standard of living. They also offer entertainment alternatives,
such as theme parks, sporting and musical events, allowing urban citizens to access leisure activities easily.
In the process of urbanisation, rural migration causes various far-reaching impacts on the environment and
urban citizens. First, deforestation occurs when city governments have forests cut down to build
accommodation for new residents, which harms the environment and reduces air quality. As growing
populations bring about more deforestation and pollution, the air quality worsens, which can lead to health
issues for residents. Second, due to population expansion, cities are struggling to offer adequate public
facilities for urban people. As a result, some lowincome people are unable to obtain the necessary affordable
housing and end up living in slums, where the quality of life is very poor.

Rural migration is a complicated process, of which the causes and the effects should be fully

comprehended. By carefully planning city development and suitable social policies, we can provide urban

citizens with good public services, exciting job opportunities and a high quality of life without harming the
environment.
(Adapted from Bright)

Question 31. Where in paragraph 1 does the following sentence best fit?
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More and more people are moving to the city from the countryside each year.
A 1]

B. [I1]

C. [

D. [IV]

Question 32. The phrase gives rise to in paragraph 1 could be best replaced by

A. originates from

B. results in

C. brings up

D. carries out

Question 33. The word They in paragraph 2 refersto .

A. industries

B. good jobs

C. urban areas

D. people

Question 34. According to paragraph 2, which of the following is NOT a push factor?

A. fewer job opportunities

B. a higher living standard

C. crop failures

D. a low income

Question 35. Which of the following best summarises paragraph 3?

A. Urbanisation improves the living standards of all urbanites to the detriment of the environment.

B. Urban citizens suffer serious health problems and housing shortages as a result of migration to the city.
C. Rural migration is detrimental to not only the environment but also urbanites' health and life quality.
D. Low-income urban citizens lack access to public amenities, leading to their poor standards of living.
Question 36. The word far-reaching in paragraph 3 is OPPOSITE in meaningto .

A. expanded

B. limited

C. negative

D. severe

Question 37. Which of the following is TRUE according to the passage?

A. Both push factors and pull factors contribute to the increase in rural migration on a global scale.

B. Rural migration is the most important driving force behind the phenomenon of urbanisation worldwide.
C. Adequate public facilities are getting easily accessible to city residents thanks to governments' effort.
D. City residents' health issues are caused by poor living conditions in the slums, not reduced air quality.

Question 38. Which of the following best paraphrases the underlined sentence in paragraph 4?
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A. Despite the complexity of rural migration, a complete understanding of its causes and effects could be
achieved.

B. Were the process of rural migration more straightforward, a thorough understanding of its causes and
effects could be gained.

C. Not until a full comprehension of the causes and effects of rural migration is achieved does it become a
straightforward process.

D. Itis crucial to gain a comprehensive understanding of the causes and effects of such a complicated
phenomenon as rural migration.

Question 39. Which of the following can be inferred from the passage?

A. The push factors play a more significant role than the pull factors in encouraging rural migration.

B. Rural migration has more profound impacts on the environment than on city dwellers' well-being.

C. Without proper planning, urban expansion may come at the expense of the environment and city
dwellers' well-being.

D. By 2050, about 70 % of urban population is predicted to be living in slums due to their inability to afford
proper housing.

Question 40. Which of the following best summarises the passage?

A. Driven by limited rural prospects and the appeal of urban opportunities, rural migration fuels rapid
urbanisation, impacting the environment and urban resources, thus requiring careful planning for sustainable
development.

B. Lack of rural opportunities and the attraction of city life cause increased rural migration, significantly
expandig urban populations and creating insoluble social and environmental issues.

C. Global urbanisation accelerates as people relocate from rural areas to cities seeking improved
employment and living standards, but this migration leads to pressing issues like deforestation and
inadequate public services.

D. Limited opportunities in rural areas and the promise of better employment and recreation draw people to

cities, but rapid urban growth damages the environment, highlighting the need for careful planning.
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HUONG DAN GIAl
Thuc hién: Ban chuyén mén Loigiaihay.com
1A 2.B 3.D 4.D 5B 6.D 7.B 8. A 9.B 10. A
11.C 12. A 13.D 14. A 15.B 16. A 17. A 18.B 19. A 20. A
21.C 22. A 23.D 24. A 25.B 26. A 27.C 28.D 29.B 30.D

31.B 32.B 33.C 34.B 35.C 36.B 37.A 38.D 39.C 40. A
HUONG DAN GIAI CHI TIET

Question 1 (NB)

Kién thirc: Tinh tir va trang tir

Giai thich:

A. boring (adj): gay budn chén

B. bored (adj): cam thay budn chéan

C. boringly (adj): mét cach nham chéan

D. boredom (adj): su budn chéan

Tir "really” dimg trudc chd trong, vi cay can dién mot tinh tir dé bo nghia cho "they". "Boring" 1a tinh tir chi dic
tinh, phu hgp vaéi nghia "ho s€ nham chéan”.

Thong tin: Will they be interesting or will they be really (1) boring?

Tam dich: Liéu ho s€ tha vi hay thuc sy nham chan?

Choose A.

Question 2 (NB)

Kién thirc: Cum danh tir

Giai thich:

A. long journey plane: ciu trdc sai thir ty tir

B. long plane journey: ding cau tric, "long" b6 nghia cho "plane journey"

C. plane long journey: ciu trdc sai thir ty tir

D. journey: thiéu théng tin vé loai hanh trinh

Théng tin: Are these the questions that you often ask yourself before a (2) long plane journey?

Tam dich: Day c6 phai la nhitng cau hoi ban thudng ty hoi trude mot chuyén bay dai khong?
Choose B.

Question 3 (TH)

Kién thic: Rat gon ménh dé quan hé

Giai thich:

A. which called: cau tric sai, can cau bi dong

B. calling: dang hién tai phan tir khéng phu hop

C. was called: dang bi dong, nhung can them “which” dé cau ding ngir phéap
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D. called: diing dang rit gon cia ménh dé quan hé bj dong
Théng tin: An airline company has introduced a new system (3) called 'Meet & Seat'.

Tam dich: Mot hing hang khong da giéi thidu mot hé théng mai co tén goi 1a 'Meet & Seat'.

Choose D.

Question 4 (TH)

Kién thic: Gidi tr

Giai thich:

Cau tric show sth to sb: cho ai xem céi gi, chia sé cai gi véi ai

Théng tin: When you book your tickets, you can show your social media profile (4) to everyone on the plane.
Tam dich: Khi dat vé, ban c6 thé chia sé trang mang x& hoi caa minh voi moi ngudi trén may bay.

Choose D.

Question 5 (TH)

Kién thirc: Cum tir ¢b dinh

Giai thich:

Cum tir c6 dinh make business contacts: thiét 1ap mdi quan hé kinh doanh

Thoéng tin: If you want to talk about work and (5) make business contacts, look at people's professional network
profiles.

Tam dich: Néu ban muén néi vé cong viéc va tao cac méi quan hé kinh doanh, hdy xem hé so mang lugi chuyén
nghié¢p cua moi nguoi.

Choose B.

Question 6 (NB)

Kién thirc: Cau trc prefer

Giai thich:

Ta c0 cau tric prefer + to V: thich lam gi

Théng tin: And if you prefer (6) to have fun and chat about travelling and shopping.

Tam dich: Va néu ban thich cé nhitng cudc trd chuyén vui vé va néi vé du lich va mua sim.

Choose D.

Dich bai doc:

Noi dung dich:

KET B4AN TREN B4U TROI
"Tdi sé ngoi canh ai? Ho sé tha vi hay thuc si nhdam chdn" Pdy cé phdi 1 nhitng cau héi ma ban thirong tu hoi
trieéc mét chuyén bay dai khéng? Nhung tat ca sé thay doil Mét cong ty hang khéng da gidi thiéu mét hé thong
m&i ¢6 tén 14 'Gap g& & Ngai'. Bay gio ban cd thé Choose ngiroi hang xém bén canh' ciia minh. Khi ddt vé, ban
cd thé hién thi ho so mang x& héi ciia minh cho moi ngueoi trén may bay. Ban ciing sé thdy hé so ciia moi nguoi

khdc. Sau dé, ban c6 thé Choose nguwoi ban muén ngéi canh. Néu ban mudn néi vé cong viéc va tao mai quan hé
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kinh doanh, hay xem hé so mang luw6i chuyén nghiép ciia moi nguweoi. Va néu ban thich vui vé va trd chuyén vé du
lich va mua sam, hay xem hé so' mang x& hi cia ho!

Question 7 (NB)

Kién thic: Dai tir bat dinh

Giai thich:

A. others (cac con khac) — dai tir s nhiéu chi cac dbi twong khong xac dinh da duoc nhac téi.
B. other (kh&c) — tinh tir di kém danh tir khong xac dinh.

C. the others (nhitng con con lai) — chi cac ddi twong xéac dinh con lai trong mot nhém.

D. another (m6t con khac) — chi mot ddi tugng khac.

Chd tréng can dai tir bat dinh chi céc loai vat khac khong xac dinh.

Thong tin: Farming with synthetic chemicals has killed insects and (7) other animals.

Tam dich: Viéc canh tac vé6i cac hoa chat tong hop da giét chét con tring va céc loai vat khac.
Choose B.

Question 8 (TH)

Kién thirc: Cum dong tir

Giai thich:

A. throw away (phr V): vt bo

B. give in (phr V): nhuong bo

C. pass out (phr V): ngat xiu

D. put off (phr V): tri hoén

Théng tin: Meanwhile, we (7) throw away 80 million cans each day and 45,000 tonnes of plastic packaging
each year.

Tam dich: Trong khi d0, chtng ta virt bo 80 triéu lon mdi ngay va 45.000 tan bao bi nhia mdi nam.
Choose A.

Question 9 (TH)

Kién thirc: Tir vung

Giai thich:

A. storage (n): su luu trir — khéng phu hgp ngtt canh.

B. transport (n): van chuyén — ph hop véi hanh dong van chuyén thuc pham.

C. preservation (n): su bao quan — khéng phu hop.

D. preparation (n): su chuan bi — khong lién quan t6i ngit canh van chuyén.

Théng tin: This reduces the need for long-distance food (9) transport.

Tam dich: DBiéu nay gidp giam nhu cau van chuyén thuc pham duong dai.

Choose B.

Question 10 (TH)

Kién thirc: Cum tur ¢d dinh
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Giai thich:
A. Instead of: thay vi — pht hop véi viéc dua ra sy thay thé.
B. On account of: bai vi — khong phu hop.
C. Irrespective of: bat ké — khong hop ngir canh.
D. In view of: xét dén — khéng phu hop.
Théng tin: Don't always buy food that comes in cans or plastic packaging. (10) Instead of buying a pre-
packaged sandwich, make your own!
Tam dich: Pimng luc nao ciing mua thuc phim dong hop hodc dong goi bang nhya. (10) Thay vi mua banh
sandwich dong goi san, hay tu lam!
Choose A.
Question 11 (TH)
Kién thirc: Danh tir chi s6 luong
Giai thich:
A. number (n) s6 luong - duing cho danh tir d¢m duoc — khdng pht hop vi "rubbish” la danh tir khong dém duoc.
B. level (n): me d6 — khong chinh x&c trong ngix canh nay.
C. amount (n): lugng - ding cho danh tir khéng dém dugc — phi hop véi "rubbish”.
D. quality (n): chat lugng — khéng phi hop ngir canh.
Théng tin: That helps reduce the (11) amount of rubbish you produce.

Tam dich: Didu d6 gitip giam lugng rac ma ban tao ra.

Choose C.

Question 12 (TH)

Kién thirc: Tir vung

Giai thich:

A. items (n): mat hang, d6 vat — ph hop vai vat dung c6 thé tai ché.
B. factors (n): yéu té — khdng pha hop.

C. resources (n): tai nguyén — khong dung trong ngir canh nay.

D. substances (n): chat — khdng phi hop ngit canh tai ché.

Thoéng tin: Separate paper, plastic, and metal (12) items and recycle them."
Tam dich: Phan loai gidy, nhua va kim loai va tai ché ching.
Choose A.

Dich bai doc:

Noi dung dich:

Pé cizu hanh tinh, hay bar dau tir nhal

Hay cling xem nhitng gi chling ta c6 thé 1am tai nha méi ngay @é ciru hanh tinh.

Sy kién va sé liéu:
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N6ng nghiép si dung hda chat tong hop da giét chét con trimg va cdc lodi déng Vit khdc. Trong khi do, ching ta
virt bo 80 triéu lon mdi ngay va 45.000 tan bao bi nhira méi nam. Nhirng thiz ndy giét chét téi mét triéu con chim
bién méi nam.

Hanh dong tich cuc!

- Mua va tiéu thy thyc pham va do uong twoi, hitu co, dac biét 1a nhiing thit dieoc san xuat tai dia phwong. Piéu
nay 1am giagm nhu cau vdn chuyén thyc pham dwong dai.

- Khéng phdi lic ndo ciing mua thuc pham déng hép hodc bao bi nhyra. Thay vi mua mét chiéc banh sandwich
dong géi san, hay tir lam! Piéu dé givip giam heong rac thai ma ban tgo ra.

- Hay tai si dung bao bi khi c6 thé. Phan logi cac vdt dung bang gidy, nhya va kim logi va tai ché ching.
Question 13 (TH)

Kién thirc: Sap xép cau

Giai thich:

a. Nam: Hi, Mark! Long time no see. You look so good!

c. Mark: Hi, Nam! Thanks. You look so fit, too. Have you worked out a lot lately?

b. Nam: Yes, | have. | exercise every morning and eat more healthy food.

Tam dich:

a. Nam: Chao Mark! Lau roi khong gap. Trong ban dep qua!

c. Mark: Chao Nam! Cam on. Trong ban ciing khoe manh qué. Dao nay ban c6 tap thé duc nhiéu khong?

b. Nam: Vang, t6i c6. Tdi tap thé duc mdi sang va an nhiéu thirc an lanh manh hon.

Choose D.

Question 14 (TH)

Kién thirc: Sap xép cau

Giai thich:

c. Alex: How are you going to improve your English?

b. Sue: I'm going to try online classes.

a. Alex: Why online classes?

e. Sue: They improve our communication skills, and they have flexible schedules.

d. Alex: I think online classes are too expensive. | don't think I'll try them.

Tam dich:

c. Alex: Ban dinh cdi thién tieng Anh ciia minh nhw thé nao?

b. Sue: Tdi sé thir hoc I6p triec tuyén.

a. Alex: Tai sao lai hoc 16p truec tuyén?

e. Sue: Chang cdi thién ki nang giao tiép cua ching toi va co lich hoc linh hoat.

d. Alex: Téi nghi 16p truc tuyén qud ddt. Téi khong nghi minh sé thit.

Choose A.

Question 15 (TH)
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Kién thic: Sap xép cau

Giai thich:

Hi Gemma,

b. Thanks so much for the guitar lesson videos you sent me last week.

e. It's really nice to learn how to play a new instrument like the guitar, but I am too busy at the moment, so
I'm focusing on my violin lessons for now.

a. But it was interesting to watch these videos.

d. Thanks also for the tip about the free websites with musical lesson videos - they are much better than the
sites I've been following.

c. You know, we ought to practise together for some time. What do you think?

Write back soon.

Billy

Tam dich:

Xin chao Gemma,

b. Cam on ban rat nhiéu vi nhitng video hiréng dan choi guitar ma ban da giri cho tdi tuan trude.

e. That tuyét khi diroc hoc cach choi mét nhac cu moi nhwe guitar, nhung hién tai téi qua bdn, Vi vdy toi dang
tdp trung vao cac bai hoc choi violin cua minh.

a. Nhung thdt thu vi khi xem nhizng video nay.

d. Cam on ban ciing dé chi cho t0i meo vé cac trang web mién phi cé video hwéng dan choi nhac - ching tot
hon nhiéu so Vi cdc trang web t6i da theo doi.

c. Ban biér day, ching ta nén ciing nhau luyén tap trong mét thoi gian. Ban nghi sao?

Viét lai cho tdi sém nhé.

Billy

Choose B.

Question 16 (TH)

Kién thirc: Sap xép cau

Giai thich:

d. My passion for both people and technology naturally led me to a fulfilling career in social media
management.

c. Indeed, for the past year, | have thrived in this role at a local company, where | craft engaging online content
and develop effective strategies.

b. Working remotely from home fuels my creativity and allows for a more productive environment.

a. While deadlines and flexibility are essential aspects of this job, the occasional office meeting for project
updates, for instance, is a small trade-off.

e. In conclusion, | am incredibly happy with my current position and the opportunities it provides, as it

perfectly combines my interests and skills.
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Tam dich:

d. Niém dam mé cia t6i doi Véi ca con nguoi va cong nghé da tw nhién dwa téi dén véi sy nghiép vién man
trong qudn Iy phwong tién truyén thong xa hoi.

c. Thdt vdy, trong nam qua, téi da phat trién magnh mé trong vai trd nay tei mér cong ty dia phwong, noi t6i
ta0 ra néi dung truc tuyén hap dan va phat trién cac chién liroc hiéu qua.

b. Lam viéc tir xa tai nha thiic ddy sir Sang tao cua toi va tao ra méi trirong 1am viéc hiéu qua hon.

a. Mdc du thoi han va tinh linh hoat 1a nhing khia canh thiét yéu cua cong viée nay, nhung viéc hop van
phong thinh thodng dé cdp nhdt du &n, chang han, 1& mét su ddanh déi nho.

e. Tom lgi, tdi vO ciing hai 10ng véi v tri hién tgi ciia minh va nhitng co héi ma né mang lgi, vi n6 két hop
hoan hao so thich va ky nang cua toi.

Choose A.

Question 17 (TH)

Kién thirc: Sap xép cau

Giai thich:

d. Redmond has transformed significantly over the past decade.

b. Once abundant parks on Oak Street and Richmond Avenue have been replaced by factories, marking a shift
towards industrialisation.

c. The industrial shift has also attracted new businesses, from arcades to shops and factories, boosting the local
economy and making Redmond more and more commercially active.

e. This industrial growth has led to a 25 percent population boom due to an influx of factory workers, resulting
in increased traffic congestion.

a. However, despite this growth, Redmond still lacks a hospital, as the nearest one is located over 30 miles
away in Longreach.

Tam dich:

d. Redmond dd cé s thay doi dang ké trong thap ky qua.

b. Céc cong vién trwde ddy rat nhiéu ¢ phé Oak va dai | Richmond da dwoc thay thé bang cdc nha may, danh
ddu suw chuyén dich theo hiréng cong nghiép hoa.

¢. Sw chuyén dich cong nghiép ciing thu hit cdc doanh nghiép Méi, tir cdc khu tro choi dién tir dén céc cira
hang va nha mdy, thic day nén kinh té dia phwrong va khién Redmond ngay cang ning dong hon vé mdt thirong
Mai.

e. Su tang trwong cong nghiép nay da dan dén sy bung né dan so 25 phan tram do dong cong nhdan nha mdy
dé dén, dan dén tinh trang tac nghén giao théng gia tang.

a. Tuy nhién, bdt chdp sw tang triong ndy, Redmond van thiéu bénh vién, vi bénh vién gan nhat nam cdch dé
hon 30 dam ¢ Longreach.

Choose A.

Question 18 (VD)
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Kién thiic: Cau trac cau don co ban

Giai thich:

Cau triic cau co ban: S + V + adv.

Céu da co6 chi ngir “Sophia” can it nhat mot dong tir chinh.

A. of which the activation was launched on Valentine's Day, 2016 => sai vi khong dugc sir dung ménh dé
quan hé vi cau chi cé 1 cha ngi chinh

B. was first activated on Valentine's Day in 2016 => cau bi dong thi qué khir don

C. that had her first Valentine's activation launched in 2016 => sai vi khong dugc su dung dai tir quan hé
“that” trong ménh dé quan hé khong xac dinh

D. having been initially activated on Valentine's Day, 2016 => sai vi cau chua c6 dong tir chinh dugc chia
theo thi

=> Sophia, as an example, (18) was first activated on Valentine's Day in 2016.

Tam dich: Vi dy, Sophia dugc kich hoat lan dau tién vao Ngay I& tinh nhan ndm 2016.

Choose B.

Question 19 (VD)

Kién thirc: Ménh d quan hé khong xéac dinh

Giai thich:

Céu da co di cac thanh phan chinh: chi ngit (Sophia the Robot) + dong tir (is) + tan ngir (the latest
humanlike robot) => phan con lai 1a ménh d& quan hé bé tro nghia cho cum danh tir “a Hong Kong-based
company”

A. whose combined efforts in Al research, engineering, and design have given birth to robots => sur dung dai
tir quan hé “whose” thay cho “a Hong Kong-based company”

B. succeeded in bringing robots to life by combining research in Al, engineering, and design => sai vi thiéu
dai tur quan hé

C. brought robots to life thanks to its accomplishments in Al research, engineering, and design => sai vi
thiéu dai tir quan hé

D. of which the joint efforts in Al research, engineering, and design in building robots => sai vi “of which”
can stra thanh “whose”

=> Sophia the Robot is the latest humanlike robot created by a Hong Kong-based company (19) whose
combined efforts in Al research, engineering, and design have given birth to robots.

Tam dich: Robot Sophia la robot gidng ngudi méi nhit duoc mot cong ty co tru so tai Hong Kong (19) tao
ra bang cach két hop cac nd luc nghién ctu, thiét ké va ché tao Al dé tao ra robot.

Choose A.

Question 20 (VD)

Kién thirc: Nghia cua cau

Giai thich:
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A. She has been designed to assist humans in healthcare, customer support, and education

(Cd dy duoc thiét ké dé hé tro con ngueoi trong linh viee cham séc sirc khoe, hé tro khach hang va giéo duc)
B. People in the fields of healthcare, customer service, and education helped create Sophia

(Nhitng nguoi trong linh viee cham soéc suc khoe, dich vy khach hang va giao duc da givp tao ra Sophia )

C. Intending to aid humans in healthcare, customer support, and education, Sophia was developed

(Vé6i muc dich hé tro con nguoi trong linh viee cham sée sirc khoe, hé tror khach hang va gido duc, Sophia da
o phét trién)

D. The assistance in customer support, education, and healthcare led to the creation of Sophia

(Sw 6 tro trong linh vuc hé tro khach hang, gido duc va cham séc sirc khde da dan dén viéc tao ra Sophia)
Cau trude d6 chu ngir 1a “Sophia” nén cau theo sau dung chi ngir “She” dé tranh lap lai.

Céc phuong 4n B, C, D khong phi hop vé nghia.

=> Undoubtedly, Sophia together with other humanlike robots represents the rapid advancement in the field
of robotics and artificial intelligence. (20) She has been designed to assist humans in healthcare, customer
support, and education.

Tam dich: Khéng con nghi ngo gi nita, Sophia cting véi nhirng robot gidng ngudi khac dai dién cho sy tién
bo nhanh chéng trong linh vuc robot va tri tué nhan tao. (20) C6 4y duoc thiét ké dé hd tro con ngudi trong
chim séc sirc khoe, ho trg khach hang va gido duc.

Choose A.

Question 21 (VD)

Kién thirc: Nghia cua cau

Giai thich:

A. Without cameras and microphones working as her eyes and ears, she could hear and see like humans
(Khéng c6 may dnh va micrd hoat déng nhw mdt va tai, ¢d dy c6 thé nghe va nhin nhw con nguwoi)

B. Her eyes and ears work as cameras and microphones so that people can see and hear her

(Mdt va tai cia cd dy hoat dong nhw may dnh va micré dé moi nguroi ¢6 thé nhin va nghe co dy)

C. She has cameras for eyes and microphones for ears, allowing her to see and hear like a human

(Cd dy c6 may anh cho mat va micrd cho tai, cho phép ¢b dy nhin va nghe nhir con nguo)

D. Using cameras and microphones for eyes and ears, they allow her to see and hear as humans do

(St dung may anh va micrd cho mdt va tai, ching cho phép cd dy nhin va nghe nhw con nguwoi)

Céc phuong 4n A, B, D khong phu hop vé nghia.

=> Sophia's physical appearance is inspired by both the famous actress Audrey Hepburn and the creator's
wife. (21) She has cameras for eyes and microphones for ears, allowing her to see and hear like a
human.

Tam dich: Ngoai hinh cta Sophia duoc ldy cam hing tir ca nir dién vién noi tiéng Audrey Hepburn va vo
ctia ngudi sang tao ra nd. (21) C6 ay c6 may anh cho mat va micrd cho tai, cho phép ¢6 4y nhin va nghe nhu

con nguoi.
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Choose C.

Question 22 (VD)

Kién thirc: Ménh dé phan tur

Giai thich:

Khi hai ménh dé c6 ciing cha ngit “Sophia” ¢ thé rit gon 1 ménh dé vé dang Ved/V3 khi ménh dé mang

nghia bi dong. Chd trong can 1 ménh dé day da gom cha ngix va dong tir.

A. Sophia can understand human speech and interact with people

(Sophia c6 thé hiéu diroc 101 n6i ciia con ngudi va twong tdc véi Moi ngueoi)

B. human speech and interaction are becoming so easy to Sophia

(16i néi va twong tdc ciia con ngwoi dang tré nén dé dang hon doi véi Sophia)

C. the machine can help Sophia speak and interact with humans

(may moc ¢ thé giip Sophia néi va twong tic véi con nguoi)

D. interaction in speech between Sophia and humans takes place

(twong tdc trong 16 N6i giita Sophia va con nguoi dién ra)

Céc phuong 4n B, C, D khéng phu hop vé nghia.

=> Equipped with machine learning algorithms, (22) Sophia can understand human speech and interact

with people.

(Puoc trang bj thugt toan hoc may, Sophia cé thé hiéu diroc |61 n6i Ciia con nguwoi va twong tic véi moi

nguoi.)

Choose A.

Bai doc hoan chinh:

Humanoid robots, eminent characters in science fiction novels and sci-fi films, are becoming a reality. Sophia,

as an example, (18) was first activated on Valentine's Day in 2016. One month later, she had her premiere

in Texas, USA, and has made multiple public appearances around the world since then. At one such event,

Sophia was granted Saudi Arabian citizenship in October 2017 and even became the first Innovation

Champion of the United Nations Development Programme later that year. During Sophia's trip to Vietnam in

2018, she addressed the Industry 4.0 Summit and Expo.

Sophia the Robot is the latest humanlike robot created by a Hong Kong-based company (19) whose combined

efforts in Al research, engineering, and design have given birth to robots. Undoubtedly, Sophia together

with other humanlike robots represents the rapid advancement in the field of robotics and artificial intelligence.

(20) She has been designed to assist humans in healthcare, customer support, and education.

Sophia’s physical appearance is inspired by both the famous actress Audrey Hepburn and the creator's wife.

(21) She has cameras for eyes and microphones for ears, allowing her to see and hear like a human. But

what makes her more lifelike than other robots is the patented artificial skin called Frubber®, which has the

feel and flexibility of human skin.
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Sophia amazes the world with her ability to communicate naturally. The Sophia Intelligence Collective, which
is a combination of Al and human input, and other sophisticated perception techniques enable Sophia to
recognise human faces and identify human emotions and gestures. Equipped with machine learning
algorithms, (22) Sophia can understand human speech and interact with people.

Dich bai doc:

Robot hinh ngwoi, nhan vdt néi tiéng trong tiéu thuyét khoa hoc vién reeng va phim khoa hoc vién firong,
dang tré thanh hién thyec. Sophia, chang han, (18) lan dau tién dwoc kich hoat vao Ngay 1é tinh nhin nam
2016. Mt thang sau, ¢é di cé budi ra mat tai Texas, Hoa Ky va da xuat hién nhiéu lan truéc cong ching trén
kheip thé gici ké tir do. Tai mét sw Kién nhue vdy, Sophia da dwoc cap quoc tich 4 Rap Saudi vao thang 10 nam
2017 va tham chi con trg thanh Nha vé dich déi méi dau tién ciia Chicong trinh phdt trién cia Lién hop quéc
VA0 Cudi nam dé. Trong chuyén di ciia Sophia d@én Viét Nam nam 2018, ¢6 di c¢é bai phat biéu tai Hoi nghi
thwong dinh va Trién 1dm Cong nghiép 4.0.

Sophia the Robot la robot giong ngiroi méi nhat do mét cong ty cé tru so tai Hong Kéng (19) tao ra, nhing
né lirc két hop trong nghién ciru, ky thudt va thiét ké Al da cho ra doi robot. Khong con nghi ngo gi niza,
Sophia cuing véi nhiing robot gidng nguwoi khdc dai dién cho su tién bg nhanh chéng trong Iinh viec robot va
tri tu¢ nhan tao. (20) C6 da duoc thiét ké dé hé tro con nguoi trong cham séc sirc khoe, hé tror khach hang va
giao duc.

Ngoai hinh ciia Sophia dirgc 1dy cam hing tir ca niz dién vién néi tiéng Audrey Hepburn va v ciia nguoi sang
ta0 ra no. (21) C6 cd camera cho mdt va micro cho tai, cho phép c¢é nhin va nghe nhur con nguwoi. Nhwng diéu
khién cb gidng ngueoi thdt hon nhirng robot khac 1a 16p da nhan tao duwoc cap bang sang ché co tén la
Frubber ®, c6 cam gidc va dé dan hoi Ciia da nguoi.

Sophia khién cd thé gidi kinh ngac véi kha néing giao tiép tie nhién cia minh. Sophia Intelligence Collective,
1a su két hop gidta AI va dau vao ciia con nguoi, cing cac ki thudt nhén thize tinh vi khac cho phép Sophia
nhgn dang khubn mat nguoi va xdc dinh cam xuc ciing nhu cu chi cua con nguoi. Duoc trang bj cac thugt
toan hoc may, (22) Sophia c6 thé hiéu dwoc 101 noi Ciia con nguwoi va twong tdc véi Moi nguoi.

Question 23 (VD)

Kién thic: Doc hiéu

Giai thich:

Ngon ngir nao sau ddy KHONG duoc nhic dén 1a mot trong nhitng ngdn ngi I6n nhat?

A. Tiéng A Rap

B. Tiéng Hindi

C. Tiéng Tay Ban Nha

D. Tiéng Maori

Théng tin: However, most people speak the largest languages: Chinese, Spanish, English, Hindi, Russian,
Arabic, and others.
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Tam dich: Tuy nhién, hau hét moi nguoi déu néi duoc nhitng ngdn ngit phd bién nhat: tiéng Trung, tiéng
Tay Ban Nha, tiéng Anh, tiéng Hindi, tiéng Nga, tiéng A Rap va cac ngdn ngit khéc.

Choose D.

Question 24 (VD)

Kién thirc: Doc hiéu

Giai thich:

Tir “extinct” (tuyét chuing) trong doan 1 ¢6 nghia BOI LAP véi

A. existent (adj): ton tai

B. native (adj): ban dia

C. official (adj): chinh thac

D. ancient (adj): ¢ xua

=> extinct >< existent

Théng tin: We may soon lose those languages completely. In fact, 230 languages became extinct between
1950 and 2010.

(Chlng ta c6 thé sém mdt hoan toan nhing ngon ngi do. Trén thuc té, 230 ngdn ngir da tuyét chung trong
khodng thoi gian tir nam 1950 dén nam 2010.)

Choose A.

Question 25 (VD)

Kién thic: Doc hiéu

Giai thich:

Tir Their trong doan 2 am chi dén

A. nhu ciu co ban

B. Ngudi Tuvan

C. nhitng c&ch khac nhau

D. nhiing noi khac nhau

Théng tin: Tuvan people depend on animals for food and other basic needs. Their language shows this
close connection between people and animals.

Tam dich: Nguoi Tuvan phu thudc vao dong vat dé lay thire an va cac nhu ciu co ban khéac. Ngon ngix caa
ho cho thdy méi lién hé chit ché gitta con ngudi va dong vat.

Choose B.

Question 26 (VD)

Kién thirc: Doc hiéu

Giai thich:

Tir accessible (dé tiép can) trong doan 4 c6 thé dugc thay thé tot nhat bing

A. available (adj): co san
B. dependable (adj): c6 thé phu thudc
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C. visible (adj): cd thé nhin thay

D. audible (adj): c6 thé nghe thay

Thong tin: And because these dictionaries are accessible to anyone on the Internet, people now and in the
future can learn some of the vocabulary, greetings, and grammar rules of past languages.

Tam dich: Va vi bat ky ai trén Internet ciing c6 thé truy cap nhitng tir dién nay nén moi nguoi hién tai va
trong tuwong lai déu c6 thé hoc mot sb tir ving, cach chao hoi va quy tac ngir phap cua cac ngon ngir trudc
day.

Choose A.

Question 27 (VD)

Kién thirc: Doc hiéu

Giai thich:

Céu nao sau day dién giai lai cAu gach chan trong doan 4 mot cach hay nhat?

A. Céc ngbn ngir dang bi de doa chi c6 thé duoc ctu bang cong nghé.

B. Khong c6 cach nao khac dé ctu cac ngdn ngir dang bi de doa ngoai cong nghé.

C. Cong nghé c6 thé 1a mot cach khac dé ctru cac ngdn ngir dang bi de doa.

D. Cong nghé nén duoc coi 1a giai phap cudi cung dé ciu cac ngdbn ngir dang bi de doa.

Théng tin: Technology offers a possible alternative to saving endangered languages.

Tam dich: Cong nghé cung cap giai phap thay thé kha thi dé bao ton cac ngdn ngit dang c6 nguy co tuyét
chung.

Choose C.

Question 28 (VD)

Kién thic: Doc hiéu

Giai thich:

Theo doan vin, ciu nao sau day 1a PUNG?

A. S luong ngudi ndi tiéng Wales s& tang thém mét triéu vao nam 2050.

B. Chi bang cach tao ra "Tuir dién néi" thi cac ngén ngir dang bi de doa méi c6 thé duoc ciu.

C. C6 it hon 200 ngdn ngir khéng con ton tai trong khoang thoi gian tir nim 1950 dén nam 2010.

D. Chinh phii xir Wales dang cb gang ting gap d6i sé lwong ngudi néi tiéng Wales vao nam 2050.

Théng tin: And Welsh is spoken by around 500,000 people in Wales. The Welsh government is working to
increase that number to one million by 2050.

Tam dich: Tiéng Wales dugc khoang 500.000 ngudi ¢ xtr Wales néi. Chinh quyén xir Wales dang nd luc
tang con s d6 1én mot triéu vao nam 2050.

Choose D.

Question 29 (VD)

Kién thirc: Poc hiéu

Giai thich:
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Trong doan van nao tac gia dé& cap dén méi quan hé nhan qua hién tai?

A.Doanl

B. Boan 2

C.Dboan 3

D. Poan 4

Théng tin: Unfortunately, when we lose a language, we also lose its culture and knowledge. That's because
people in different places have different ways of living and thinking.

Tam dich: That khong may, khi chiing ta mét di mot ngdn ngi, chung ta ciing mét di nén van hoa va kién
thirc cuia ngon ngir d6. 6 13 vi moi ngudi & nhitng noi khac nhau c¢6 cach sdng va suy nghi khac nhau.
Choose B.

Question 30 (VD)

Kién thic: Doc hiéu

Giai thich:

Trong doan vin nio, tic gia kham pha cac phuong phap hién dai dé duy tri cac ngon ngir dang bi de doa?
A.Poan 1

B. Boan 2

C.Dboan 3

D. bBoan 4

Thong tin: Technology offers a possible alternative to saving endangered languages. National

Geographic's Enduring Voices project has created "Talking Dictionaries” - the recorded voices of people
communicating with each other. All of them are fluent speakers of endangered languages. And because

these dictionaries are accessible to anyone on the Internet, people now and in the future can learn some of
the vocabulary, greetings, and grammar rules of past languages.

Tam dich: Cong nghé cung cap maot giai phap thay thé kha thi dé ciru cac ngon ngit dang bi de doa. Dy &n
Enduring Voices cua National Geographic da tao ra "Talking Dictionaries" - giong no6i dugc ghi &m cua
nhitng nguoi giao tiép voi nhau. Tat ca ho déu 1a nhitng ngudi néi luu loat cac ngdn ngit dang bi de doa. Va
vi nhitng tir dién nay co thé truy cap duoc boi bat ky ai trén Internet, nén moi nguoi hién tai va trong tuong
lai c6 thé hoc maot sb tir vung, 1oi chao va quy tic ngit phap cua cac ngbn ngit trong qué khtr.

Choose D.

Dich bai doc:

Hién nay, ¢ khodng 7.000 ngdn ngg trén thé gigi. Tuy nhién, hau hét moi ngueoi déu néi nhirng ngdn ngiz pho
bién nhdt: tiéng Trung, tiéng Tay Ban Nha, tiéng Anh, tieng Hindi, tiéng Nga, tiéng A Rdp va cac ngon ngiz
khac. Vdy con nhing ngdn ngiz it phé bién hon thi sao? Theo Bdn dé ngdn ngit thé gisi dang bi de doa cia
UNESCO, hién c6 khodng mét phan ba sé ngdn ngiz trén thé gidi ¢é it hon 1.000 nguwoi ndi. Ching ta c6 thé
sém mdat hoan toan nhing ngdn ngiz dé. Trén thuc té, 230 ngdn ngi da tuyét chung trong khodng thoi gian tir
nam 1950 dén nam 2010.
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That khéng may, khi chling ta mdt di mét ngdn ngiz, chiing ta ciing mat di nén van héa va kién thirc cia ngodn
ngit dé. Pé la vi moi nguoi ¢ nhitng noi khdc nhau c¢é cdch song va suy nghi khdc nhau. Mét vi dy vé diéu
nay la tieng Tuvan ¢ mién nam Siberia. Nguwoi Tuvan phy thuge vao dong vt dé kiém thire dan va cdc nhu cau
co ban khac. Ngdn ngi ciia ho cho thay mai lién hé chdt ché gitta con ngueoi va déng vat. Vi du, tir ezenggileer
trong tiéng Tuvan cé nghia la "hat theo nhip diéu cwéi nqua”. VA tir ak byzaa c6 nghia la "bé trang dwdéi mét
tuoi”.

O M6t s6 noi, moi nguwoi dang né lwe dé bao ton cac ngdn ngi truyen thong. Nhiéu trieong hoc ¢ New Zealand
hién dang day tiéng Maori. Diéu ndy gilp két néi nguoi New Zealand ban dia véi nén van héa Maori cia ho.
Tiéng Wales duoc khodng 500.000 nguwoi ¢ Wales n6i. Chinh phui xiz Wales dang né luc tang con sé do lén
mot triéu nguoi vao nam 2050.

Cong nghé cung cdp mét gigi phap thay thé kha thi dé bdo ton cac ngdn ngi dang bi de doa. Dy &n Enduring
Voices cua National Geographic da tqo ra "Talking Dictionaries™ - giong néi dwroc ghi am cua nhitng nguoi
giao tiép vai nhau. Tat ca ho déu |a nhitng nguwoi néi heu lodt cac ngén ngit dang bi de doa. Va vi nhiing tir
dién nay co thé truy cdp diroc Véi bat ky ai trén Internet, nén moi nguoi hién tai va trong tiwong lai cé thé hoc
mét so tir vaeng, loi chao va quy tac ngir phéap cia cac ngébn ngir trong qué khet.

Question 31 (VD)

Kién thirc: Doc — dién cau

Giai thich:

Where in paragraph 1 does the following sentence best fit?

(Cau sau phu hop nhdt khi dira vao doan nao?)

More and more people are moving to the city from the countryside each year.

(M6i nam cé ngdy cang nhiéu ngueoi di chuyén tir néng thén dén thanh pho.)

Cau trén noi vé tinh trang ngay cang nhiéu ngudi di chuyén tir néng thon dén thanh thi, day ciing chinh 14 noi
dung cua céu [11].
Théng tin: Half of the world's population already resides in cities, and by 2050, experts predict that number to
reach as high as two-thirds.
Tam dich: Mét niza dan sé thé gidi da sinh séng tai cac thanh phé va dén nam 2050, cdc chuyén gia dir dodn
con sé dé sé 1én téi hai phan ba.

Choose B.

Question 32 (TH)

Kién thiec: Doc — tir vung

Giai thich:

The phrase gives rise to in paragraph 1 could be best replaced by:
(Cum tir give rise to frong doan 1 ¢6 thé duwoc thay thé bang:)

A. originates from (bat nguon tir)

B. results in (két qud 13)
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C. brings up (nuéi duong)
D. carries out (tién hanh)
=> gives rise to: dan dén = results in

Thong tin: Many factors contribute to this global phenomenon, which then gives rise to various issues.

Tam dich: Nhiéu yéu t gop phan vao hién twong toan cau nay, sau d6 lam phat sinh nhiéu van dé khac nhau.
Choose B.

Question 33 (TH)

Kién thirc: Poc — tir thay thé

Giai thich:

The word They in paragraph 2 refers to:

(Tir They trong doan 2 dé cap t6i:)

A. industries (nhizng nganh céng nghiép)

B. good jobs (nhitng cong viéc tot)

C. urban areas (nhitng khu do thi)

D. people (nguot)

=> They = Urban areas

Théng tin: Urban areas have more industries, so people can easily get good jobs and achieve a higher standard
of living. They also offer entertainment alternatives, such as theme parks, sporting and musical events, allowing
urban citizens to access leisure activities easily.

Tam dich: Cac khu vire d6 thi c6 nhiéu nganh cdng nghiép hon, do d6 moi ngudi c6 thé dé dang c6 duoc cong
viéc tot va dat dugc muc séng cao hon. Nhiing noi nay ciing cung cap céac lya chon giai tri thay thé, chang han
nhu cong vién giai tri, sy kién thé thao va am nhac, cho phép nguoi dan thanh thi dé dang tiép can cac hoat dong
giai tri.

Choose C.

Question 34 (TH)

Kién thirc: Poc — chi tiét

Giai thich:

According to paragraph 2, which of the following is NOT a push factor?

(Theo doan 2, ddu khéong phdi 1a mét yéu té thiic day?)

A. fewer job opportunities (it co hoi viéc lam hon)

B. a higher living standard (mizc séng cao hon)

C. crop failures (mia mang that thu)

D. a low income (thu nhdp thap)

Thong tin: Nhitng yéu t6 thuc day xuat hién trong doan 2 1a:

- fewer job opportunities:

For example, rural residents have fewer employment options because there are not many large companies nearby.
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(Vi du, cur ddn néng thén 6 it lwa chon viée lam hon vi khéng cé nhiéu cong ty Ién gan dé.)

- crop failures + a low income:

What's more, rural jobs are mainly related to agriculture, so crop failures due to natural disasters can make it
difficult to earn a good living.

(Hon nira, cdng viéc ¢ ndng thon chu: yéu lién quan dén ndng nghiép, do dé mat miia do thién tai cé thé khién ho
kho kiém duwroc thu nhdp tot.)

Choose B.

Question 35 (VD)

Kién thirc: Doc — chi tiét

Giai thich:

Which of the following best summarises paragraph 3?

(Pdu la gidi thich chinh x&c nhdt cho doan 37?)

A. Urbanisation improves the living standards of all urbanites to the detriment of the environment.

(P6 thi hoa cai thién mirc séng cua tat cd nguwoi dan thanh thi nhung lai gay hai cho méi triong.)

B. Urban citizens suffer serious health problems and housing shortages as a result of migration to the city.
(Nguoi dan thanh thj phdi chiu dung céc vdn dé sirc khoe nghiém trong va tinh trang thiéu nha ¢ do di cur dén
thanh pho.)

C. Rural migration is detrimental to not only the environment but also urbanites' health and life quality.

(Di cu néng thén khéng chi gay hai cho méi trirong ma con cho sic khde va chdt hirong cugc song ciia nguoi
dan thanh th;.)

D. Low-income urban citizens lack access to public amenities, leading to their poor standards of living.

(Ngueoi dan thanh thj c6 thu nhdp thdp khéng dieoc tiép cdn céc tién ich cong céng, dan dén mirc séng thdp.)
Choose C.

Question 36 (TH)

Kién thiec: Doc — tir viung

Giai thich:

The word far-reaching in paragraph 3 is OPPOSITE in meaning to

(Te far-reaching trong doan 3 trdi nghia vot)

A. expanded (mg rong)

B. limited (gigi han)

C. negative (tiéu cuc)

D. severe (nghiém trong)

far-reaching (adj): sau rong >< limited

Thoéng tin: In the process of urbanisation, rural migration causes various far-reaching impacts on the

environment and urban citizens.
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Tam dich: (Trong qud trinh dé thi héa, di cur néng thén gay ra nhiéu téc dong Sau réng dén méi triweong va ngueoi
dan thanh th;.)

Choose B.

Question 37 (TH)

Kién thirc: Doc — chi tiét

Giai thich:

Which of the following is TRUE according to the passage?

(Pau la cau dung theo bai van?)

A. Both push factors and pull factors contribute to the increase in rural migration on a global scale.

(Cd yéu té ddy va yéu té kéo déu gop phan lam tang di cw néng thén trén quy mé toan cau.)

B. Rural migration is the most important driving force behind the phenomenon of urbanisation worldwide.

(Di cur néng thon la dong lirc quan trong nhdt thiic day hién twong d@é thi hda trén toan thé gidi.)

C. Adequate public facilities are getting easily accessible to city residents thanks to governments' effort.

(Nho né luec cia chinh phai, cie dén thanh phé c6 thé dé dang tiép cdn cdc co sé cong céng mét cach dé dang.)
D. City residents' health issues are caused by poor living conditions in the slums, not reduced air quality.

(Cac vdn dé sirc khde ciia cur ddn thanh phé la do diéu kién song kém ¢ khu 6 chugt, chir khong phdi do chat
lwong khéng khi giam.)

Thong tin: Noi dung doan 2

Choose A.

Question 38 (TH)

Kién thirc: Poc — chi tiét

Giai thich:

Which of the following best paraphrases the underlined sentence in paragraph 4?

(Céu nao sau day dién gidi lai cau gach chdn trong doan 4 mét cach diing nhat?)

A. Despite the complexity of rural migration, a complete understanding of its causes and effects could be
achieved.

(Mdc dit di cw néng thén rat phirc tap, nhung van c6 thé hiéu day di vé nguyén nhén va tac dong cia no.)

B. Were the process of rural migration more straightforward, a thorough understanding of its causes and effects
could be gained.

(Néu qua trinh di cw néng thén don gian hon, chiing ta cé thé hiéu thdau ddo vé nguyén nhan va tac dong cia nd.)
C. Not until a full comprehension of the causes and effects of rural migration is achieved does it become a
straightforward process.

(Phai dén khi hiéu ddy dii vé nguyén nhdn va tic dong cia di cie néng thén thi qud trinh nday méi tré nén don
gian.)

D. It is crucial to gain a comprehensive understanding of the causes and effects of such a complicated
phenomenon as rural migration.
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(Piéu quan trong la phdi hiéu toan dién vé nguyén nhén va tac dong cua mét hién teong phirc tap nhw di cw néng
thon.)

complicated process = complicated phenomenon

should be = It is crucial to

fully comprehended = comprehensive understanding

Théng tin: Rural migration is a complicated process, of which the causes and the effects should be fully
comprehended.

Tam dich: (Di cur néng thén la mét qué trinh phurc tap, trong dé nguyén nhdn va tée déng cua né can duwoc hiéu
day di.)

Choose D.

Question 39 (VDC)

Kién thirc: Doc — suy luan

Giai thich:

Which of the following can be inferred from the passage?

(CH thé suy ra diéu nao sau déy tir doan van?)

A. The push factors play a more significant role than the pull factors in encouraging rural migration.

(CAc yéu té ddy dong vai tro quan trong hon cdc yéu té kéo trong viéc khuyén khich di cw néng thén.)

B. Rural migration has more profound impacts on the environment than on city dwellers' well-being.

(Di cur néng thon c6 tde dong sau sdc hon dén méi truong so véi phic loi cia cu ddn thanh thi.)

C. Without proper planning, urban expansion may come at the expense of the environment and city dwellers'
well-being.

(Néu khong c6 quy hoach hop Iy, viéc mé réng dé thi ¢6 thé gay ton hai dén méi trwong va phic lei ciia cu dan
thanh th;.)

D. By 2050, about 70% of urban population is predicted to be living in slums due to their inability to afford
proper housing.

(Pén nam 2050, dir kién khodng 70% dan sé thanh thi sé song trong cac khu 6 chudt do khéng dii kha néng chi
tra cho nha o.)

Théng tin:

By carefully planning city development and suitable social policies, we can provide urban citizens with good
public services, exciting job opportunities and a high quality of life without harming the environment.

Tam dich: (Bang céch ldp ké hoach phat trién thanh pho mét cach can thédn va cac chinh sach xa hai phu hop,
chiing ta c6 thé cung cdp cho ngwoi dan thanh thj cac dich vu cdng tor, co héi viéc 1am thi vi va chdt lwong cuée
song cao ma khong gay hai cho méi triong.)

Choose C.

Question 40 (VD)

Kién thirc: Doc — tom tat

Truy cap https://loigicihay.com/ dé xem Ii gidi SGK, SBT, VBT 1l 16p 1 - I18p 12 t&t cd cac mén




LOigiCIihCly.com

Giai thich:

Which of the following best summarises the passage?
(Cdu nao sau déy tém bai viét nay ding nhat?)

A. Driven by limited rural prospects and the appeal of urban opportunities, rural migration fuels rapid
urbanisation, impacting the environment and urban resources, thus requiring careful planning for sustainable
development.

(Do nhitng diém thu hat cia néng thon han ché va sizc hap ddn cia cdc co héi noi dé thi, di cw néng thon thiic
ddy qud trinh dé thi héa nhanh chéng, tac ddng dén méi treong va tai nguyén dé thi, do dé doi héi phdi ldp ké
hoach cdn thdn cho phét trién bén viing.)

B. Lack of rural opportunities and the attraction of city life cause increased rural migration, significantly
expanding urban populations and creating insoluble social and environmental issues.

(Viéc thiéu cde co hdi ¢ ndng thdn va sic hap dan cua cuge song thanh thi khién tinh trang di cu néng thén gia
tang, lam gia tang dang ké dan so do thi va tao ra cac van dé x& héi va méi trieong khdng thé gidi quyét diroc.)
C. Global urbanisation accelerates as people relocate from rural areas to cities seeking improved employment
and living standards, but this migration leads to pressing issues like deforestation and inadequate public services.
(Oud trinh dé thi hda toan cau ting toc khi moi nguroi di chuyén tir cdc viing néng thén dén cac thanh phé dé tim
kiém viéc 1am va mirc song dieoc cai thién, nhung qud trinh di cw nay dan dén cac van dé cap bach nhir ngn pha
rieng va cac dich vu cong khong day dii.)

D. Limited opportunities in rural areas and the promise of better employment and recreation draw.

(Cdc co héi han ché ¢ cac ving ndng thon va loi hiza cho mét vién canh tér dep hon vé viéc lam va gidi tri.)
Choose A.

Dich bai doc:

D6 thi hda toan cdu da tang ddang ké trong nhing thap ky gan ddy va mét trong nhitng dong lwc chinh cuia sw
ting truéng ndy la di cw néng thén. Mot nira dan sé thé gidi da sinh song tai cac thanh phé va dén nam 2050,
cac chuyén gia dw dodn con sé d@6 sé 1én téi hai phan ba. Nhiéu yéu té gop phan vao hién nrong toan cau nay,
sau do dan dén phét sinh nhiéu vdn dé khac nhau.

C6 nhiéu yéu té thiic day khién moi nguwoi roi xa cuge séng ndng thon. Vi du, cur dan néng thén cé it lwa chon
Viéc lam hon vi khéng ¢6 nhiéu cdng ty 1on gan dé. Hon nira, cdng viéc ¢ néng thon chu yéu lién quan dén ndng
nghiép, do dé mat mua do thién tai co thé khién ho kho kiém dwoc thu nhdp tér. Ngwoc lai, 6 nhiing yéu té kéo
thu hat moi nguroi dén véi cuge song dé thi. Cac khu viee dé thi c6 nhiéu nganh cong nghiép hon, do dé moi
nguwoi €6 thé dé dang cé dirgc coNg Viéce tot va dat dwot MirC Song cao hon. Nhitng Noi ndy ciing cung cap Cac
lwva chon gidi tri thay thé, chang han nhw cong vién gidi tri, sy kién thé thao va &m nhac, cho phép nguoi dan
thanh th; dé dang tiép cdn céac hoat déng gidi tri.

Trong qud trinh do thi héa, di cw néng thén gdy ra nhiéu tdc dong sau réng dén moi trwong va nguoi dan thanh
thi. Pau tién, ngn pha ring xdy ra khi chinh quyén thanh phé chat pha rimg dé xay dung nha ¢ cho cue ddan méi,
gay hai cho méi trwong va 1am giam chdt lirong khong khi. Khi dan sé ting, nan pha ring va 6 nhiém gia ting,
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chdt lwong khong khi tré nén toi té hon, ¢é thé dan dén cac van dé sirc khée cho cu ddan. Thir hai, do dan sé tang,
cac thanh phé dang phai vt 1én dé cung cap cac tién ich cong céng day dii cho ngwoi dan thanh thi. Két qud 13,
Mot sé nguoi thu nhdp thap khdng thé ¢é diroc nha ¢ gia ré can thiét va cusi cuing phdi song trong cac khu
chuét, noi chdt lwong cuge song rat kém.

Di cu néng thén la mét qua trinh phitc tap, trong dé nguyén nhan va tac dong cua n6 can dwoc hiéu day di.
Bang céch Idp ké hoach phét trién thanh phé mét cach cdn thdn va cac chinh séch xa hgi phi hop, ching ta c6
thé cung cdp cho nguroi dan thanh thj cac dich vu cdng tor, co hdi viéc 1am thu hat va chdt lwong cugc seng cao

ma khéng gay hai cho méi trurong.
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